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BIOLOGY SSC~i
SECTION - A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itseilf.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/ocverwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(jii)

(iv)

(Vi)

{vil)

(viii)

(ix)

(xi)

(xii)

For Examiner’s use only:

Similar groups of cells, performing the same functions are called:

A Organelle B. Organ C. Tissue D. Organ system
What is TRUE about volvox?

A Unicellular Prokaryote B. Colonial eukaryote

C. Unicellular eukaryote D. Multicellular eukaryote

Which one of the following in not a characteristic of a hypothesis?

A Must be consistent with all the available data
B. Must make predictions

C. Must be testable

D. Must be correct

Viruses are assigned to the kingdom:

A Monera B. Protista

C. Fungi D. Not inciuded in any kingdom

How many Indus dolphins are left today in indus River?

A 6000 B. 600 C. 69 D. 06

The cell wall in plants is composed of:

A Chitin B. Peptidoglycan C. Cholesterol D. Cellulose
Which of the following features of cell division are very different for animal and plant cells?
A Prophase B. Metaphase C. Anaphase D. Cytokinesis
What is true about cofactors?

A. Break Hydrogen bonds in Proteins B. Help facilitate enzyme activity

C. Increase activation energy D. Are composed of proteins

In which component of the leaf cells, chlorophyll is present?

A Stroma B. Plasma membrane

C. Thylakoids D. Cytoplasm

The pancreas produces digestive enzymes and releases them in to the:

A Colon B. Gall Bladder C. Liver D. Duodenum
Stomata close when the guard cells:

A Lose water B. Become turgid

C. Gain chloride ions D. Gain potassium ions

Which of the following is NOT a type of leukocyte?
A Lymphocyte B. Monocyte C. Eosinophit D. Osteocyte

Total Marks: - 12
Marks Obtained: E
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56
BIOLOGY SSC-|

Total Marks Sections B and C: 53

NOTE:

Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
heatly and legibly.

Q.2  Attemptany ELEVEN parts. The answer to each part shouid not exceed 3 to 4 lines.

(i)

SECTION — B (Marks 33)

(11 x 3 = 33)

Define the following:

a. Palaeontology b. Immunology c. Entomology
Write the names and subjects of the books written by Jabir bin Hayan and Bu Ali Sina, in the field of
biology.

Differentiate between qualitative and guantitative cbservations with the help of examples.

(i
(iv) Write down the important cbservations recorded by A.F.A king to solve the problem of Malaria.
(v) Differentiate between taxonomy and systematics. Write down the main aims of classification.
{vi) Who proposed the five kingdom system of classification? On which features, this system is based?
{vii) Differentiate among the phagocytosis, Pinocytosis and Exocytosis.
(viii) Write down the important features of skeletal muscles, sieve tube cells and companion cells.
{ix) Differentiate among Apoptosis, Necrosis and Apoptotic bodies.
(%) Pefine the following with examples:
a. Macronutrients b. Micronutrients C. Eutrophication
(xi) Write down the ways by which enzyme lower down the energy of activation.
{xii) Write down the important events of Calvin cycle.
(xiil) Describe aerobic respiration briefly with the help of chemical equation.
{xiv) Why Pepsin, a powerful protein-digesting enzyme does not digest the walis of stomach, made of
proteins?
(xv) Describe Bloed transfusions in Rh blood group system, briefly.
SECTION — C (Marks 20) '
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 a Write a detailed note on the structure and function of celi membrane and nucleus.
Also {abeled diagrams. (4+2)
b. Explain the transport of food in plants by pressure flow mechanism with the help of
labeled diagram. (04)
Q. 4 Explain the significance of mitosis in detail. (04)
Write notes on the following:
(i Disorders of gut (i) Blood Vessels (3+3)
Q5 a Explain the mechanism of enzyme action by Lock and Key modetl and its modification.
Define specificity of enzymes. (3+1)
b. Explain the important steps involved in Glycolysis, Kreb's Cycle and light reaction. (2+2+2)
——18A 1710 (L) —_
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%\ -2 ¢/ sig. of Candidate. Sig. of invigilator.
3 A

BIOLOGY SSC-i
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itseif.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i) Members of the same species living in the same place at the same time make a:
A Habitat B. Biosphere C Population D. Community
(iiy Which of the following groups includes organisms all of which are absorptive in their mode of feeding?
A. Protists B. Fungi C. Animals D. Bacteria
(iif) Which one of the following is a correct sequence in biological method?
A Observations-Hypothesis-Law-Theory
B. Hypothesis-Observations -Deduction-Experimentation
C. Observations-Hypothesis-Deduction-Experimentation
D. Law-Theory-Deduction-Observations

(iv) What would be the best experimental design for testing a hypothesis that bean plants require sodium?

A, Measure the amount of sodium in few bean plants

B. Look for sodium in leaf tissues

C. Analyze root contents for sodium

D. Grow bean plants with and without sodium
(V) In most plants, the food is transported in the form of:

A Glucose B Starch C. Froteins D. Sucrose
(vi) In binomial nomenclature, the first letter of the name is capitalized.

A Genus B. Family C. Class D. Species
(vii) When the last member of a particular species dies, the species is said to be:

A Established B. Threatened C. Endangered D. Extinct
(viii) Which of these materials is not a component of the plasma membrane?

A. Phospholipids B. Glycoproteins  C. DNA D. Proteins
{ix) in which stage of the cell cycle, the cell prepares to begin DNA replication?

A G1 B. G2 C. S D. M
{x) To what category of molecules do enzymes belong?

A Proteins B. Carbohydrates C. Lipids D. Nucleic acids
{xi) In which of the following respiration steps, (), is produced?

A Kreb's cycle B. Electron transport chain

C. Glycolysis D. Calvin cycle
(xii) The wave like movement of muscle that pushes food through the digestive system is called:

A Chemical digestion B. Emulsification

C. Absorption D Peristalsis
For Examiner’s use only: Total Marke: !T

Marks Obtained: i
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BIOLOGY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatty and legibly.

SECTION B (Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 =33)
() Define the following:
a Physiology b. Genetics C. Taxonomy
(if) Write the names and subjects of three books written by Abdul Malik Asmai, in the field of biology.
(iii) Differentiate between gualitative and guantitative observations with the help of examples.
(iv) Write the names and area of occurrence of three endangered species of animals in Pakistan.
(v) Write the important postulates of cell theory in its modern form.
(vi) Define the following:
a. Diffusion b. Facilitated diffusion c Osmosis
{vii) Write three features of mitosis for its significance.
(vili)  What is lock and key model of enzyme action?
(ix) What is the structural formula of ATP?
(x) What is enzyme spegcificity? Give three different examples.
(xi) What is the role of chlorophyil and light in photosynthesis? Write briefly.
(xii) What is Alcohalic fermentation? Briefly explain with the help of equation.
(XHib) Define the following phases of nutrition:
a. Absarption b. Assimilation c. Defecation
(xivi  Explain briefly the reasons for the creation of transpiration pull in plants.
(xv) Differentiate between Atherosclerasis and Arteriosclerosis. Write their causes.
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 a Expiain the structure and function of mitochondria and plastids with the help of abeled diagrams. (05)
b. Explain the structure and function of small intestine with the help of labeled diagram. (05)
Q.4 a Write a detailed note on impacts of human beings on biodiversity. (06)
b. Describe the role of enzymes in different industries. (04)
Q.5 a. Explain the significance of meiesis in detail. (05)
How are Glycolysis, Kreb's cycle and Electron transport chain involved in the mechanism of
cellular respiration? Explain. (05)
—— 1SA 1710 (ON) -~—
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Roll No. L I ‘ J ‘ ‘ T Answer Sheet No.
Sig. of Candidate. Sig. of Invigilator.
CHEMISTRY SSC-I

SECTION — A {(Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carrles one mark.

{vii)

(vii)

(ix)

(x)

(xi)

(xii)

What is the mass of FOUR moles of Hydrogen (H,)gas?

A. 19 B. 109 C. 80649 D. 201649
‘M’ shell of an atom has the following sub-shells:

A 2s.2p B. ls, 25, 2p C. 35,3p. 3d D. 1s, 25, 3¢
Which one of the following elements belongs to Group 111 A of the periodic table?

A Mg B. K C. Al D. Si

Which of the following molecules has triple covalent bond between its atoms?

A H, B. N, C. 0, D. F,

Bromine has melting point of —7°C and boiling point of 59°C". What is the physical state of

Bromine at 100°C" ? '

A, Gas B. Liquid C. Solid D. Can not be predicted
A student mixed a solute in a solvent and made a mixture. After 15 minutes, he/she observed that solute
has settied down. He/she will call this mixture as:

A True solution B. Coiloidal solution

C. Homogeneous mixture D. Suspension

Which element is reduced in the given redox reaction?  ZnU+ H, — Zn+ 1,0
A H, B. ZnQ0 C. n D. 0

The oxidation numbers of Cr in Cr,0, and K,Cr,0; are:

A. +4 and +7 B. +6 and +2 C.  +2and+2 D. +3 and +6
Which of the following oxides is utilized in breathing equipments to provide oxygen to patients?
A Potassium peroxide K,0, B. Potassium oxide K,0

C. Sodium peroxide Na,O, D. Potassium super oxide K0,

Which of the followings is the Empirical forrula of Benzene?

A CH, B. cH C. C i, D. B0,

The bond formed between atoms due to transfer of electrons from one atom to another is called:
A lonic bond B. Covalent bond

C. Co-ordinate covaient bond D. Hydrogen bond

The escape of molecules of a gas through a small hole one after the other is called:
A, Diffusion B. Evaporation C. Effusion D. Boiling

For Examiner’s use only:

Total Marks: E
Marks Obtained: Ej

— 1SA 1708 (L) —
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CHEMISTRY SSC-I

Time atlowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION -~ B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)

{i Define Molecular mass. Find the molecular mass of ('}, and (", (/! if atomic mass of
C=12=land Q=16

(iiy Write any two differences between lons and Free radicals. Also write an example of each.

{iii} Write three conclusions drawn by Rutherford from his metal foil experiment.

(iv) Write the electronic configuration of the following elements by distributing electrons in their
sub-shells (s, p. &, f):  a LAl b. St c. 2 Ne

(V) Define Atomic size. Write the reason of increasing atomic size down the group and decreasing

atomic size from left to right in the period of periodic table

(vi} What is covalent bond? Show the formation of covalent bond between atoms in the following
compounds with the help of cross and dot models:
a. 0, b. TICN (Ar N0 =6 N~-T7.0=81 =1j

(vil) Define Charles's Law. Derive relationship {7 constant. Also show this relationship with the help of a graph

(vitn)y Write any two differences between Crystalline solids and Amorphous solids. Aiso give one example of
each.

(ix) Find the molarity of 1000c»° solution if it contains 52 grams of Cu( ). .
(Atomic mass: Cu =4, O =16, /[ = 1)

{x) Define Oxidation Number. Find the oxidation number of Beron in /7,30, with the help of
oxidation number rules.

(x1} Write a note on Zinc plating by giving chemical equations.
(xii) a. What are Noble Metals? Write any two examples.
b. Write the composition of Aqua Regia.
{xiiiy Choose and re-write two of the following reactions that are possible:
a. fy = 2KBr -5 2K+ Br, b. I, +2KCH > 2K) + (1,
c. CL+2KE>2KCH d. Br, +2KCT->» 2KBr + (1,

(xiv) Define Unsaturated, Saturated and Supersaturated solutions.

(Xv) Write short note on the following methods of prevention of corrosion:

a. Coating with paint b. Alloying
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
Q.3 a Write the postulates of Bohr's Atomic Model. (Diagram is not necessary) (05)
Define lonization energy. With the help of a suitable and clear reason, explain the trend of
lonization energy along the groups and periods {1+4)
Q.4 a Define Hydrogen bonding. Draw Hydrogen bonding in water. (1+1)
b. A gas was kept in 200cm container under 2 atm pressure. When it was shifted to 1000cs’
container its pressure reduced to 0.4 atm. Prove Boyle's law with the help of this data. (03)
c. What is boiling point? Explain the effect of external pressure on the boiling point of water (1+4)
Q.5 a. Explain with suitable reason that why methanol is soluble but Gasolene is insofuble in water. {03)
b. With the help of neat and clean diagram explain the manufacture of sodium metal from fused
sodium chloride by Down's cell. (07)
— 15A 1708 (L) ——
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| Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

CHEMISTRY SSC-i
SECTION - A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(i)

(i)

(iii)

(iv)

(vi)

(vii)

(viii)

(ix)

The electronic configuration of an elementis 1s* . 25~ . An atom of this element will form an ion

that will have charge:
A +1 B. +2 C. +3 D. -2

The number of Neutrons in an atom /M is:

A 10 B. 11 C. 12 D. 9

The atomic radius of an atom as one moves from top to bottom in a group of periodic table.
A, Decreases B. Increases

C. First decreases then increases D. Remains same

Which of the following atoms obeys duplet rule?
A @] B. F C. N D. H

If temperature of 30dm’ gas is increased from 273K to 546K the volume of it will become:
A 90dn’ B 15cdm’ C. 60dm’ D. 273ddm’
In which of the following processes the speed of the particles decreases?

A Condensation B. Melting C. Sublimation D. Evaporation

Alioys are an example of.

A. Gas — Liguid solution B. Gas — Solid solution

C. Liquid — Solid solution D. Solid — Solid solution

Which of the following quantities is same for one mole of Hydrogen gas and one mole of water?
A Mass B. Number of atoms

C. Number of molecules D. Number of gram atomic mass

The oxidation number of Boron (B} in H,B(,is:

A -3 B. +3 C. +1 D. +6
Which of the following cells is used in manufacturing of sodium metal?
A Nelson's cell  B. Down’s cell C. Fuel cell D. Daniel's cell

Which of the following metals is the least reactive metal?

A. Gold B. Sodium C. Potassium D. Calcium
Which of the following solids is amorphous?
A. Table salt B. Glass C. Glucose D. ice

For Examiner’s use only:

Total Marks: @
Marks Obtained: ’:]

——1SA 1708 (ON) ——
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Roll No. Answer Sheet No.
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CHEMISTRY SSC-I

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)

Define Inorganic chemistry, Biochemistry and Nuclear chemistry.
What is the contribution of Mendeleev in classification of elements?
Identify the group and period of the following elements on the basis of their electronic configuration:

a. B b. ap

5

Define covélent bond. Draw the electron cross and dot structure of:

a. CH, b. Co,
a. Water boils at 120°C’ in a pressure cooker. Explain with reason.
b. Why temperature of a liquid decreases during evaporation process?

Write any three differences between Crystalline and Amorphous substances.
Define the following terms:

a. Solution b. Solvent d. Solute
A 600cm’ solution contains 0.05 moles of KMn (), . Find its molarity.
a. Differentiate oxidizing and reducing agents.
b. Identify oxidizing and reducing agents in the following reactions:
2ANu+Cl, — 2ZNaCl Fe,0,+3C0 —» 2Fe +3C0O,
a. Define Hydrogen Bonding.
b. How do molten ionic compounds and their agueous solutions conduct electricity?
Write a note on Tin plating supporting it with chemical equations.
a. Arrange the following in the Order of increasing acidic strength:

HE, HI . HBr . HCI

b. What is aqua regia? Write its use in Chemistry?
a. Why Alkali metals are kept under kerosene Gil?
b. Complete and balance the following two reactions:

;Mgw) + Ozm _ (‘a(_\) + H._,O((,) —_—

(xiv)  Write three conclusions drawn by Rutherford from his thin metal foil experiment.
{xv) Which element in each of the following pairs has lower ionization energy? Explain your choice
a. BorN b. Lior Na
SECTION — C (Marks 20}
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 a How many moles of each of the following substances are present in:
(i) A balloon filled with 18g  H, gas. (2.5)
(i) A block of ice that weighs 50g . (2.5)
b. Define Isotopes. Write the physical properties of different forms of carbon. Also draw the
structure of isotopes of carbon. (1+2.5+1.5)
Q.4 a Define shielding effect. Write its trend in periodic table with suitable reason. (1+2)
b. Choose the elements in the following pairs whose atoms have greater shielding effect: (02)
(i) Be or Mg {ii) CorSi
c. Define Boyle's Law. Fthene gas is keptin 2.5dm’ container under 1.05 atm pressure. When it
is shifted to another container of 1.25dm’ its pressure increased upto 2.10azm . If temperature
remains constant show that this change is according to Boyle's law. (1+4)
Q.5 a Explain with reason that Methanol readily dissolves in water while Gasolene does not. (1.5+1.5)
b. How is sodium hydroxide manufactured from Brine by Nelson cell? Draw labelled diagram
and write chemical equations. (3+2+2)
— 1SA 1708 (ON) ——
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n 3 ('T
] T T
| | [ | Answer Sheet No.
u Sig. of Invigilator.
n
B
u COMPUTER SCIENCE SSC-I
SECTION - A (Marks 12)
u Time allowed: 20 Minutes
n NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
B It shguld be cc?rpplgted in the first 20 minutes and h_anded over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.
u Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.
] (i) Internal memary unit that is the smallest and fastest temporary storage of a computer is called:
A RAM B. Redgister
n C. Cache memory D. Ports
u (i) A spot that reflects laser beam into the sensor is interpreted as:
B A 0 B. 1 C. 2 D. 3
(iii) The first commercially successful machine UNIVAC-| was made in:
. A 1941 AD B. 1951 AD C. 1961 AD D. 1955 AD
| (iv) The button has both name and icon.
B A Ok B. Cancel C. Retry D. Start
u (V) Modem is used as:
A 17O device B. Input device  C. Qutput device D Storage device
n (vi) For office usage micro computers are attached with:
] A. laser printer B. Dot-Matrix printer
] C. Thermal printer D. Electro Static printer
u (vii) An 8-bit address bus can address a memory of:
A 1 Byte B. 8 Bytes C. 256 Bits D. 256 Bytes
. (vii) Atanguage translator is a:
N A System Software B. l.ow Level Language
B C Application Software D. Translating hardware
] (ix) Backspace on the keyboard is part of {he:
A Alphanumeric keypad B. Numeric keypad
= C. Function keys D. Screen navigation and Editing keys
n {x) The task bar when disappeared can be made to reappear when you press:
N A. Shift-Esc B. F1 C Ctrl-Esc D. F6
u (xi) The range of is 640 by 480 pixels.
A CGA B. VGA C. EGA D. S-VGA
» {xil) Ctrl+Shift+= is used to make text:
n A Subscript B Double underline
] C. Make Small Caps D. Superscript
n
n For Examiner’s use only:
m Total Marks: Eﬂ
u Marks Obtained: E—‘J
— 1SA T ——
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Roll No. —]

Sig. of Candidate:

Answer Sheet No.

Sig. of Invigilator:
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COMPUTER SCIENCE SSC-i

Time allowed: 2:40 Hours Total Marks Sections B and C: 43

NOTE:- Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 27)

Q.2  Answer any NINE parts. The answer to each part should not exceed 3 to 4 lines. (9x3=27)

(i)
(i)
(iif)

Define Computer System. Differentiate between computer Hardware and Software.
Write down the working of Inkjet Printer.

What is CPU? Briefly explain its parts.

{(iv) What is Operating System and list down its various tasks?
(V) Describe the function of Mother Board.
(Vi) Define the terms; Parameter, Switch and Path.
(Viiy Compare High Level Language with Low Level Languages and give at least three differences between
them.
(viiy  What is meant by Voice Recognition System? Explain.
(ix) Briefly explain the Important Concepts Joseph Maria Jaquard's invention emphasized on.
(x) What is the difference between Graphical User Interface and Command Line Interface? Also give
example.
(xi) What is ROM? List down its tasks.
{xi1) What do you know about scanner? How scanned text can be edited?
{xiii) Compare My Computer and Windows Explorer.
SECTION - C (Marks 16)
Note: Attempt any TWO questions. All questions carry equal marks. (2x8=16)
Q.3 a Draw and explain the Block Diagram of computer system. (04)
b. Write down the application of computer in Product Design and Manufacturing. (02)
c. What is the difference between Source Code and Object Code? (02)
Q.4 a Write down the purpose of the foliowing commands: (03)
(i) BACKUP (ii) PROMPT (iii) XCOPY
b. Write a brief note on the working of Hard Disk. (03)
c. What is the difference between Typeface and Font? (02)
Q.5 List down the advantages of working in MS Windows Environment. (03)
b. What is the difference between SAVE and SAVE AS options? (02)
c. Define the following:
(i) Booting Process (i) lcons in Windows (iii) Memory Word (1+1+1)
— 1A 171 —
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-2 \j)u*uw»/ Low Level Language .+ High Level Language (vii)

- /_.>L-:: ‘v Voice Recognition System {viity

_u:f:/f_—,Kfﬂu.u- -J Joseph Maria Jaquard (ix)

_V'.'.’{,fff» i g,-jx‘/fu;u:’Uf‘.’;J}!ﬂ,ﬁ‘ Command Line interface.: Graphical User interface 3
a1 | ROM (xi)

?‘QJCL’VL}/Edité/_"/JV Scannedic_” Scanner  (xil)

_u;/‘Zny‘b/ Windows Explorer ,s My Computer (xili)

1640 pro
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(04) -q/.—»uf it ufx’o.Diagram Jl&u(f/fm“ ol Zf’/f}d‘r
(02) u fji bt/u._i, Manufacturing .+ Product Design },;v;/ ——
(02) oy 5 ZuJJ 0t Object Code .»i Source Code &
(03) «‘J:”J Purpose € Commands [izes - 1 Jiye
XCOPY (i) PROMPT (i) BACKUPR (N
{03) Vuj_'}/‘""/j}‘ e a4 ’b " Hard Disk —
(02) ‘e O/ Font o Type Face -
(03) -V:“”(; h,h,/(b/wMS “Windows Environment — —wd! :O/,Ubf
(02) = JASUISAVE AS i SAVE o
(1+1+1) A e b
Memory Word (iii) fcons in Windows (iky Booting Process ()
----- 1SA 1711 v
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4

Sig. of Candidate. Sig. of Invigilator.

SECTION — A (Marks 15)
Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e, A/ B/ C / D. Each part carries one mark.

(i) The Sultan Ahmad mosque is popularly known as:
A Hagia Sophia A. Ottoman mosque
C. Blue mosque D. Faisal mosque
(i) The word patriot comes from the word ‘patriota’.
A Latin B. French C. Greek D. German
(i) The Holy Prophet (%) and Hazrat Abu Bakr Siddique (RA) migrated from Makkah to Madina in the year:
A 621 AD B. 622 AD C. 612 AD D. 620 AD
(iv) Having tested her seeing friends to discover what they see, Hellen Keller became convinced that:
A The seeing see little B.- The seeing see clear
C. The seeing see nothing D. The seeing see
(V) The Quaid-e-Azam in his Eid message on said that lslam is a complete code regulating the
whole Muslim society.
A "September 1945 AD B. September 1847 AD
C. September 1946 AD : D. August 1947 AD
{(vi) The book which you see on the table cost me ninety rupees. The underlined ward is a/ an:
A Reftexive Pronoun B. Relative Pronoun
C. Possessive Pronoun D. Personal Pronoun

(vii) The students are all geared up for their tutorial day. The synonym of the underlined word is:

A Happy B. Motivated C. Ready D. Confused
{viii) He must work very hard and maké up for the tost time. It is a:

A Compound Sentence B. Simple Sentence

C. Complex Sentence D. Compound-Complex Sentence -
(ix) ltis to get the correct information from the university cffice.

A. Advise B. Advisable C. Advising D. Advised
(x) The Jury found the prisoner guilty. The underlined word is a/an:

A Common Noun B. Abstract Noun

Coliective Noun D. Uncountable Noun

C.
(xi) One hardly knows what to do. The underlined word is a/an:

A Possessive Pronoun B. Reflexive Pronoun

C. Relative Pronoun D Indefinite Pronoun
(xii) The sunflowers nodded in the wind. In this sentence, we find an example of:

A Simile B. Personification C. Metaphor D. Imagery
(xitd) .The floors are covered with carpets. The underlined word is an antonym of:

A Exposed B. Spread C. Decorated D. Stretched
(xiv)  The shoe is pressing on my toe. The underlined phrase is a/an:

A Noun Phrgse B. Adjective Phrase

C. Adverb Phrase ' D. Prepositional Phrase

(xv) Choose the correct spellings:
A. Proselytizing  B. - Prosilitizing C. Procelytizing D. Prosilytizing

For Examiner’s use only:

Total Marks: l 15 —1
|
Marks Obtained: |
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ENGLISH COMPULSORY SSC-I
Revised Syllabus

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Sections B and C comprise Pages 1-2. Answer all the questions from Sections ‘B’ and ‘C’ on the
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write
your answers neatly and legibly.

SECTION - B (Marks 39)

Q.2 Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks.
(6x3=18)
1] VWhy did the Pagan Arabs threaten the Holy Prophet's (A5%) uncle?
(i) What are the two major means of communication and their functions?
Ly How do you get an impression that Hellen Keller was a great admirer of Nature?
{iv) What was the ideclogy of Pakistan in view of the Quaid-e-Azam?
V) How does the interior of the Sultan Ahmad Mosque look?
(Vi) “Her iife would always be a beacon of fight for all of us ” Explain in the light of "Hazrat Asma (RA)
(Vi) What s the role of celinselling in rehabilitation of the drug victim?
(viliy  "Where there is a will, there 1s a way.” What do you infer from this expression about the nurse's
professional skill?
Q.3 a Paraphrase any ONE of the following stanzas: (03)
(i He gives his harness bells a shake
To ask if there is some mistake
The oniy other sound's the sweep
Of easy wind and downy flake.
(i) The waves beside them danced, but they
Out-did the sparkling waves in glee;
A poet could not but be gay,
in such a jocund company!
[ gazed — and gazed - but little thought
What wealth the show tc me had brought;
b. Read the following stanza carefully and answer the questions given at the end: (06)
For oft, when on my couch | ie
In vacant or in pensive mood,
They fiash upon that inward eye
Which is the bliss of solitude;
And then my heart with pleasure fills,
And dances with the daffodils
Questions:
{1 When does the poet recall the scene of daffodiis?
{iiy What 15 meant by the term “inward eye’?
(iiiy What change does the poet feel in himself?
Q.4 a Change the Voice of any FOUR of the following: (04)
(3 The work will be finished by him in a fortnight.
(i} The children laughed at the beggar.
(iiiy Who has frightened the baby?
(iv) You may use my book.
{(v) Let him drink water.
{vi) They will remove the cause of the disease.
{viry Why did you not return my camera?
Englisih Compulsory 2017 Annual Page 1 of 2 (Eng. Com. New)
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b. Provide correct form of Verb of any FIVE of the following sentences: (05)

(i) Media (play) a constructive role in society.

(i) | (do) my homework for two hours when my friend came.

(iii) She (give) away all the money to the poor yesterday.

(iv) The window was open and a bird (fly) into the room.

{v) It was hard work carrying the bags because they (be) very heavy.
(vi) When | first (come) to this house, it was quite a noisy area.

(vil) It (rain) in winter every year.

(

vii)  The rain had stopped before he (reach) home.

c. Punctuate and capitalize the following para/ iine(s): (03)

are you looking for your patient she said and gave me a big hug

SECTION — C (Marks 21)

Write a letter to your friend thanking his / her for the hospitality during your visit to his / her house. (08)
-OR-
Write a letter to your younger brother advising him about the importance of the study of science subjects.

Write a paragraph of about 60 to 70 words on “Patriotlsm.” (05)
Translate any EIGHT of the following sentences into English: (08)
_;_;L‘,;/‘Jf;,uff‘:_b;f?f‘/,it_;,iﬁlf (i) -V_'TLf}gJ://:;:/c»..«g.f" (i)

_{rft_,/;)c‘g:‘/u:s{dt (iv) ?d))(f'/ﬂ_//T’L}L‘f(dzuffi.u;}uc./u/g {i)

e nF Lo AE M) el eszpfony W)

U F_/({J,LE Qﬁ/:;’.gu’d (viil) «gﬁ:{t’ubu: guﬁ:u (vif)
‘.’Etaé&"/i.g’fo}lu) () ‘-’L“_EJ/‘/;{K‘J:P)Q,'J_K’:Q/ (ix)

L onaselys = ALY (i) FL KT s n kA )

- OR-
Write a dialogue between a brother and his sister regarding time managément.
-OR-

Write a dialogue between a father and his son about the importance of Social Media.

—— 1SA 1701 (L) ~—
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A %, Roll No. F I o Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.
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ENGLISH COMPULSORY SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not aliowed. Do not use lead pencil.

Q. 1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

{0 Hellen Keller says, “If | were the President of a university, | would establish a compulsory course in:
A How to handle a situation B. How to admire nature
C. How to use your mind D. How to use your eyes
(i) Hazrat Asma (RA) died at the age of about years.
A Ninety B. Hundred C. Eighty D. Seventy
(iii) The construction of the Sultan Ahmad mosque was held in:
A 1716 AD B. 1615 AD C. 1609 AD D. 1616 AD
(iv) The fluttering daffodils were compared with:
A Stars B. Waves C. Lake D. Birds
(V) He take the examination next year.
A Will have B Wili C. Will be D. Shall
(vi) She remained steadfast and did not reveal the secret. Synonym of the underlined word is:
A Patient B Ready to face
C. Firm and resolute D. Prepared for the worst

(vii) Wisdom is better than strength. The underlined word is a/an:
A, Abstract Noun B. Collective Noun
C. indefinite Pronoun C. Proper Noun

{villy  Which of the following is not a sentence?

A Sit down and rest a while B Pleased by flowers
C. He told us all about the battle D. Boys play hockey
{ix) Night came on and the room grew dark. Itis a.
A Simple sentence B. Complex sentence
C. Compound sentence D. Compound-complex sentence
{x) ‘Huge trees in the thick and dark forest’. In this line we find an example of:
A Simile B. Metaphor C. tmagery D. Personification
(xi) Noise pollution can cause hypertension and insomnia. What is the synonym of the underlined word?
A Sleeplessness B. Anxiety C. Depression D. Restlessness

(xii) Patrictism is considered a commendable quality. The antonym of the underlined word is:

A Sensible B Unworthy C. Worthy D. Admirable
(xiii) The horse hurt itseff. The underlined word is a/an:

A Reflexive Pronoun B. Relative Pronoun

C. Possessive Pronoun D. Indefinite Pronoun
(Xiv}) She gave ___all the money to the poor and the needy.

A Out B. Through C. n D. Away

(xv) Choose the correct spelling:
A Crutches B. Crutiches C. Crealtches D. Crutchis

For Examiner’s use only:

Total Marks: 15 §

— 1

Marks Obtained: ‘

_
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ENGLISH COMPULSORY SSC-I
Revised Syllabus

Total Marks Sections B and C: 60

NOTE: Sections B and C comprise Pages 1-2. Answer all the questions from Sections ‘B’ and ‘C’ on the
separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write
your answers neatly and legibly.

SECTION - B (Marks 38)
Q.2  Answer any SIX of the following parts in about 30 to 40 words each. Each part carries 3 marks.

u)
(i)
(i)
(iv)
{v)
{vi}
{vit)

(viil)
a.

)

1m0

(6x3=18)

What was the title given to Hazrat Asma (RA) and why?

“To me the pageant of seasons is an unending drama.” Comment with reference to “Three Days to See
What was the first revelation?

Why did the Quaid-e-Azam wish for a complete harmony and unity among the people of Pakistan?
What makes the Blue mosque famous in the worid?

Which environmental factors are responsible for drug addiction?

What kind of qualities do patriots have?

What is the difference between electronic and print media?

Paraphrase any ONE of the following stanzas: (03}

Continuous as the stars that shine

And twinkie on the milky way,

They stretched in never-ending line

Along the margin of a bay:

Ten thousand saw | at g glance,

Tossing their heads in sprightly dance.

My little horse must think it queer

To stop without a farmhouse near

Between the woods and frozen ake

The darkest evening of the year

Read the following stanza carefuily and answer the questions given at the end: {06)

He gives his harness bells a shake

To ask if there is some mistake.

The only other sound's the sweep

Of easy wind and downy flake.

Questions:

)
(i)

(i)

Why does the horse shake his harness bells?
Explain the terms “easy wind" and "downy flake”

From which poem the stanza has been taken and who 1s the poet?

Change the Voice of any FOUR of the following: (04}

Was he selling that car?

She will not praise them

The newspapers are being read by the boys.
b de not take my meal.

We caught the young baby bird.

Have they won the match?

Do not beat the dog

Page 1 of 2 {Eng. Com. New)
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b. Provide correct form of Verb of any FIVE of the following sentences:

) She (not complete) this activity an hour ago.

i) They (help) the poor and the needy yesterday.

iir) Students (not participate) in speech contest tomorrow.

{
(
{
(iv) The bus (stop) before we stepped out.
{
{
(

V) Two and two (make) four.

Vi) They (writing) a story since morning.

vii) | already (post) the letter.

{viil) I never (buy) this dress before | went to market.
c. Punctuate and capitalize the following para / line(s):

i did not have the courage to ask what happened

SECTION - C (Marks 21)

Write a letter to your father asking him about the heaith of your mother,

_OR-

Write a letter to your sister congratulating her on her success in the examination.

Write a paragraph of about 60 {c 70 words on “Effects of Land Pollution on Human Health”

Translate any EIGHT of the following sentences into English:

on . ey . 3
_&)/ JE o .b‘,_u t;;,'ri—pr‘[

Low&Z S s g

. . P s e
‘.V:._-__/;.Juu.‘u'-f’—__.@uq,-g

- .F L
ey E S (f,«:" s

1/ r

S P o e
e Al L U D e

“

PR P
By l:,’g;’-.«v e (e

o .
HYaln oS RS H) A

o Cnd -

& - c Lo
S SamAlad e & L

-

S Jv(“éy‘!L_;

g T o
oL Uy ?’—C—M’JLL"_U':

USRI

m e
Y A s
frl el U

v s -
o YA oS
Y& M o A e Y

T %

- OR-

Write a dialogue between two students regarding prayers.

Write a dialogue hetween a tailor and his customer regarding stitching of clothes in time.

Englisih Compulsory 2017 Annual
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Roll No. ! ' ; Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

ENGLISH COMPULSORY SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes (Old Syliabus)

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself. It
should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(1 Hazrat Khalid bin Waleed (RA) died a natural death at the age of years.

A Sixty B. Sixty one C Sixty twe D Sixty three
i Which of the following poems has been written by Julia A. Carney?

A Truth — The Best B Abou bin Adhem

C Evening D Litde Things
(i) The animals should not be branded on the:

A Face B. Tail C. Back D. Leg
{Iv) The Chinese believe that all debts mustbe paid  thelastday of the year.

A On B. Before C After D. in
V) ____were the earliest people who introduced the marathon race.

A The Romans B. The Arabs C. The Persian D The Greeks
(Vi) The Queen is there only to: (Refer to the lesson — Bees)

Al Look after the eggs B Lay eggs

C. Guard hive D. Gather food
(vil) Imam Hassan Basri (RA) was the son of:

A, Warrior B Slave C King D. Knhalifa
vl Children drink milk The underlined word is a/an

A. Countable noun B Collective noun

C Uncountable noun D. Abstract noun
(Ix} Nobody but was absent Choose the correct pronoun.

A She B. Her C Hers D. Herself
(X) It began to rain an hour ago. What tense is it?

A Past Indefinite tense B. Past Continuous tense

C. Past Perfect tense D. Past Perfect Continuous tense
{x1) Hurrah!' we have won the match  The underlined word is a/an.

A Verb B Canjunction C. Adverb D. interjection
(xi) Which of the following is a CORRECT sentence?

A. Songs are sing by her B. Songs are sang by her

C Songs are sung by her D Songs afe singing by her
(xiii} Use ____while crossing the road.

A, Left hand lane B. Traffic lights

C. Zebra crossing D Footpath
(xiv)  Which of the following words is correctly speit?

A Enlightment B Enlightenment C, Enlightinment  D. Enlightmant
(xv) She was singing a song whent the room.

Al Enter B. Entered C. Will enter D. Have entered

For Examiner’s use only:
Total Marks: “ ”15 ‘

Marks Obtained:
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ENGLISH COMPULSORY SSC-I
(Old Syllabus)
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Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer all the questions from Sections ‘B’ and ‘C’ on the separately provided answer book.
Use supplementary answer sheet i.e. Sheet-B if required. Write your answers neatly and legibly.

SECTION - B (Marks 39)

Q.2  Answer any SiX of the following parts in about 30 to 40 words each. Each part carries 3 marks.
(6x3=18)

{iy What was the result of Hazrat Muhammad's {%:%) teaching on the people of Arabia?

() What title was given to Hazrat Khalid bin Waieed (RA) by Hazrat Muhammad { 2.3 )and why?
{iiy Write a few lines on "Kindness is a Great Virtue

(1v) Where did the master send the prince Tai and why? (Refer to the lesson — Chinese Wisdom)
(v} What is self-employment?
(Vi) Describe the New Year's Eve and special functions on that day.
{vii) How many types of pollution are mentioned in the lesson? (Refer to the lesson — Save Nature)
(viii) How are the germs carried to the food?
Q.3 A Paraphrase any ONE of the following stanzas: (03)
(1) For oft, when on my couch | lie. (i Little drop of water,
In vacant or in pensive mood, Little grains of sand,
They flash upon that inward eye, Make the mighty oceans,
Which is the bliss of solitude, And the beauteous land;

And then my neart with pleasure fills
And dances with the daffodils

B. Read the following stanza carefully and answer the questions given at the end: (06)

But Rebecca recollected,

She was taught deceit to shun;
And the moment she reflected,
Told her mother what was done;
Questions:

(i) Write the name of the poem and the poet.
(i) What does the phrase "deceit to shun” mean?
{iii) What did Rebacca decide to do in the end?

Q.4 Change the Voice of any FOUR of the following: {04)
() They had gained nothing. (i We did not hear the sound
(iiiy Why were they beating the boy? (V) Whao did this?
{v) He was taken to the hospital by his friends. (Vi) She learns her lesson everyday.
(vil) Grammar is taught us by Mr. Ali

Q.5 Use any FOUR of the following Phrasal Verbs in sentences: (04)
) Leads o {ii) Object to (1) Part with {iv) Send for
(v) Act upon {vi) Born to (vii) Feel for

Q.6  Punctuate and capitalize the following para / line(s): (04)

with the greek civilization sports came to be looked upon as a means of building up the body and
mind the famous olympic games are held every fourth year
SECTION — C (Marks 21)

Q.7  Write a letter to your mother about the test you have just taken (08)
-OR-
Write a letter to your friend condoling the death of his / her mother

Q.8  Write a paragraph of about 50 to 70 words on "My Best Teacher” with the help of the following word bank (08)

Charming personality — Punctual and diligent — encourages students — never abuses — broad-minded

Q.9 Transiate any FIVE of the following sentences into English: {05)
SERS T (il) Crma AP (i
e A S (iv) s merol Y (hi)
o e (V) SR DI PRV U B
TSR P PL S (Vi)
-OR-
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Roll No. ] 11 : l } Answer Sheet No.

]
/  Sig. of Candidate. Sig. of Invigilator.

|

B ISLAMIYAT COMPULSORY SSC-I
N SECTION — A (Marks 10)
|

Time allowed: 15 Minutes

NOTE: Section-A is compuisory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 15 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

]
| :
Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) What is meant by sx%.?

A. To pray B. To request
C. To Fight bravely D. Respond the call
(i) Prayer is the of religion (Deen).
A Bridge B. Tower C. Pillar D. Base

(i) What does &Y mean?

A Booty B. Robbed weailth C. Extraincome D. Wealth
(iv) According to Hadith the best is one who has the best:
A Morality B. Dress C. House D. Family

(v) The Holy Quran was reveated in about years.
A 12 B. 15 C. 23 D. 30

(Vi) The meaning of iy is:

A For reconciliation B. For conversation

H
n
u
n
u
u
u
H
u
u
n
=
C. Forwar D. For betterment
- (vi)  What does zyidlsbil mean?
|
A The tales of hypacrites B The tales of pagans
L C The tales of early people D. The tales of Arabs
| (vily  What i1s meant by ase il in Masaraf--Zakat?
|
u
n
|
u
=
u
|
|
o
|
n
u

A. Prisoner B. Poor C. Traveller D. Debtors

{ix) The requirement for love of God is:
A Beneficence  B. Wisdom C. Faith - D. Knowledge

(x) Man is superior than other creatures due to:

A Wisdom B. Revelation C. Knowledge D Sight

For Examiner’s use only.

Total Marks: | 10 |
| —|
Marks Obtained: ! ‘
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ISLAMIYAT COMPULSORY SSC-I

Time allowed: 2:15 Hours Total Marks Sections B and C: 40

NOTE: Answer all the questions of Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 24)

Q.2 Translate any THREE of the following Quranic Verses: (3x3=9)
o Sl - ~Z - ¢ 7, / L L’/p ’;;”’ i
(,\,)5/, /L}; wb‘”’;ij J. M 2 /’“:3)‘;&&»;2“{)—?’-’]"J0J!U7“”J (i)

Tyl 20 ® R Lo Py 3Bl D e .
s A TS O i:cxml,-’,-w‘ww'u‘ulﬂéel! (i)

- ¥yl - j L
@”"""””fv' e B G5 2208 ET 5 p g W (B (i)

_,.,,;m SR ey o* s AARO C;J‘Qia (iv)

) J-"”«'-’wb’ P - Pyl / (3l ”
TSSO R Rd VS SV Cad5 5 JEREYH 4050 5 @i\ (v)

Q.3 Translate and explain any ONE of the given Ahadith and describe how they are reiated

to our practical life: (2+2+1=5)
A RTIN 1 ;
P E i 2l 1 ()
RERIES PN Skl (i)
Q.4  Write short answer to any FIVE of the foliowing questions: (5x2=10)
(i) What 15 meant by & JAieisnd 7

(i) What reward has Allah promised for piety in Surah Al-Anfaai?
(i What do you know about 4 bL, ?
(V) Why did Allah not punish the infidels though they had asked Allah to accord punishment to them?

{v) What are the instructions of Allah regarding war wth the infideis?
i) Describe the four basic principies for the accomplishment of faith according to Hadith
(vil) What is the literal and idiomatic meaning of Zakat?

SECTION — C (Marks 16)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x 8 =16)

Q.5 Describe the Intreduction and Superiority of the Holy Quran.
Q.6  Describe the Supernority of knowledge in the light of Quran and Hadith.

Q.7  Write note on the following:

a Distribution of Zakat b Obedience of the Holy Prophet { &%)

— 1SA 1705 ——
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Roll No. ;—;j 1 7 "A Answer Sheet No.
Sig. of Candidate. Sig. of Invigilator,
ISLAMIYAT COMPULSORY SSC-I
SECTION — A (Marks 15)
Time allowed: 20 Minutes (Old Syllabus)

NOTE: Section—-A is compulsory. All parts of this section are to be answered on the question papert itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

2

(i)

Circle the correct optioni.e. A/ B C/ D. Each part carries one mark.

The total Ayaat of Surah Al-Anfal are

A 75 B. 85 C 90 D. 95
(i In the night of Badr Allah Almighty caused a slumber to cover Muslims as a:

A Happiness B. Freshness C Relaxation D. Power
(i) "Disbelievers said: O Allah, if this (Quran) be indeed the truth from You, then™

A We do not believe B. Forgive us

C We believe D Rain down stones upon us
{iv) : Lw’f means:

A Encompasser B. Punisher C Cne who sees D. Listener
(v} "Let not those who disbelieve deem that they have escaped me. assuredly they cannot”

A Overlook us B. Frustrate us c Provok us D. Weaken us
{vi) “Believers have naught of inheritance to do with them who believed and did not emigrate unless they:”

A Feel sorry B. Strive hard C. Enmigrate D. Accept defeat
(i) There is no sin if a something is done:

A In a hurry B. In sleep C In intoxication D. Un intentionally
(Viii) The disbelievers turned back in the battle of Ahzab in their fury They could not gaimn:

A Any advantage B. Victary C The spoils D. Their purpose
{1x) “And who disobeys Aliah and his Prophet indeed he is:”

A Clearly a disbeliever B. Clearly a wrong doer

C Doomed D. Cursed
{x} "This thing annoys the prophet and he”

A. lgnores you B. Does not get angry

C. ts shy of you D Does not object
(xiy Hazrat lbrahim (AS) said to his father, surely Ishall _~ you.

Al Be worry about B Seek forgiveness for

C Send sawab for D. Struggle for
{xii} To seek knowledge is for every musim:

A Fardh B. Wajib C Masnoon D. Mustahab
(xiy  According to hadith, the most perfect in faith among believers is the one who is the best in;

A Worship B. Morality C Looks D. Knowledge
{xiv}  The contents and knowledge of the pevious books have been preserved in the Holy Quran, that is why it

is known as:

A Furqan B. Qayyim C Musaddiq D. Muhaimin
(xV) The paradise gardens are:

A Arabian Vallies B Gatherings of learning

C. Mosqgues D Books
For Examiner’s use only:

Total Marks: ‘l 15 ‘

Marks Obtained: ‘
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(Old Syllabus)

Answer Sheet No.
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ISLAMIYAT COMPULSORY SSC-|
(Old Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer all the questions of Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.

SECTION -~ B (Marks 38)

Translate any TWO of the following Quranic Verses: (2x4=8)

=
N
a

B\

‘\(éL\
A\

435 (i)

L2 - {5 - RS ERED 2 AP PN I ST A M T R
SRS e WS EAYI 000 35BN s DI RINIs Ok s T GRS ST e

«©

~

A

T I A S N ,,/»;y{ A S L T T A W I il U et NS
B3 ke Y TS ML ERD a8 e Gy OO IV AS S Tar BT e (ii)

v AP %8s EAPZ I NS TN s e

e = [N SY PONPEY. ol K ER TR s : T
oGt dal T S LAY TR SR AR TS SR BRI S F Bl (i)

P

b. In the Quranic Verses and their translation given below write in detail the meanings
of any FOUR underlined words: (4 x2=8)

& Pl Ko 51300005 amiy (s BB 40 5 Akt (i)
Translation:
And obey Allah and His Prophet (24%) and do not fall into disputes lest you lose heart and your
strength deports from you. And be patient verily Allah is with those who remain patient.

P A

2| For 2 < ’7€/”:u_~; A R P AT ] Tt AL ™ .t o poae N
@535 Y35 G5 Gl 445 3 Godi RES PRI GRERNS S Qg;(;;lwfplég«..‘ Gy (i)

O wives of the Prophet! You are not fike other women If you fear, don not be soft of

speech lest one in whose heart is a disease should spire. And speak in accordance with
the customary manner
c. Write short answers to any SIX of the following questions: (6 x2=12)

() What is meant by ‘_p.‘ ¢ among the heads of expenditure of the fifth share of spoils?

(i) Write down the qualities of muslim men and women described in Surah al-Ahzab.
(i) What has been said about blood relations in Surah Al-Mumtahina?
(iv) Write down one way of getting “Aafiah” according to Hadith.

() What do you say about running to join prayers?
(vi) How does the theory of completion of prophethood give the lesson of unity of whole mankind?

{vi) Write the obligations regarding “WUZU".

Q.3 Translate and explain any TWO of the given Ahadith and describe how they are

related to our practical life: (2 x5=10;

-

wabélﬁwﬁy;fmwdﬂ (i)

Vo

_ s s i8laadl i BB BEE i)
7
- 2

. 2
_ade SR AE 1S 128K i)

o

SECTION — C (Marks 22)

Note: Attempt any TWO questions. All guestions carry equal marks. (2 x 11 =22)
Q.4 a Write a note on preservation of the Holy Quran
b. Why is it necessary to follow the Holy Prophet { ¥:%)7?
Q.5  Write in detail rights and duties of "Zaujain”.
Q.6  Write notes on the following:
a. Importance of acquiring knowledge
b. Connotative and denotative meaning of gratitude
Islamiat Compulsory 2017 Annual
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PP Y JER TR I
(Old Syllabus)
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] 1 Answer Sheet No.

Sig. of Candidate. Sig. of Invigiiator.

MATHEMATICS SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes {Science Group)

NOTE: Section—-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(i) Product of [x _v]( ﬂ is:

A. [2.\' + y] B. [x -2 ] C. 2y -- \] D. [1 + Zy]
(ir) Imaginary part of -{(3i+ 2) is:

A. -2 B. 2 C. 3 D. -3
(i) Logarithm of any number to itself as base is:

A 1 B. 0 C. -1 D. 10

(iv) (3+\/E)('3———\/§)is equal to

A, 7 B. -7 C -1 D. 1
(v} frxy,zeR £<Othen x<y—:
A Xr<vz B. b Sofh ) Vol C. R ofi S tof D. None of these

{vi) What should be added to complete the square of x* + 647

A 8* B. ~8x° C. 16x D. 4x7
(vii) If {(x,0)=(0, yv)then (x. v)is:
A 0.0 B. (1.0) C. (0,00 D. (1.1
(viii) Distance between points (0,0) and (},0)is:
A. 0 B. 1 o J2 D. 2
{ix) If one angle of a right triangle is of , then hypotenuse is twice as long as the side
opposite to the angle.
A 207 B. 45" C. 307 D. 10"
(x} Which of the following sets of the lengths can be the lengths of the sides of a right triangle”
A 1,2.3 B. 3,47 C. 5.0,7 D. 512,13
(xi) The medians of a triangle cut each other in the ratio:
A 4] B. 3:1 C. 201 D. 1:1
(xif) if three altitudes of a triangle are congruent, then the triangle is:
A, Equilateral B. Right angled  C. Isosceles D. Acute
ooy 3
(i) = ___is a solution of the inequality —< =Y~ 7.
A S B. 3 c 0 D. =

(xiv) HCFof« -band o' —b'is:
A a—b B. a+h C. a ab+ b’ D. at —ab+ b

(xv)  Thesquarerootofu —2u—=1is:
A +a+1) B. Ha-1) C. a1 D. a+1

For Examiner’s use only:
Total Marks: 15

Marks Obtained: X l
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Roll No. Answer Sheet No.

Sig. of Candidate: Sig. of Invigilator:
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Time allowed: 2:40 Hours

MATHEMATICS SSC-I
(Science Group)

Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Log table will be provided on demand.

SECTION - B {(Marks 36)
Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
(i) Two sides of a rectangle differ by 3.5 cm. Find the dimensions of the rectangle if its perimeter is 67 cm.
. L ) . |
(ii) Simplify and write your answer in the form of « + A/ R ~——l—-f-
(2430 =)
s -{)r: 2 }
@iy Simpify: (3,!)3_,#' ! H)
(97" %3
. 1.678+9.
(v) Use log table to find the value of - L 0-] .
0.0234
(v) Prove that log,” =log,"xlog *
! .
(vi) If x+ - =3then find the value of x ¢ !;
X X

Note:
Q.3

Q.4
Q.5

Q.6
Q.7

Mathematics 2017 Annual

(vii) Find HCF of x* +3x" = 16x +12: x' 4+ ~10x+8
;D
(vii)  Solve the ineguality 6« : 1l <6

1 3
(ix) Find the multiplicative inverse of . =’ 7o ‘
e ) . . X XS
(x) Perform the indicated of operation and simplify:  —- ST
X7+ 2y —x
PR
o)M= Y2 i the value of -
Vi+N2 R
(xii)  Solvefor x and v (3+4) —2x—vi)=x+ i
f o
(xiii)  Simpify .- where 4- " -
| a
(o1 L
(xiv) Use factorization to find the square root of { X+ J l\ Vo 'Jlxwﬁ 0
N AW, kY
. 2 | |
(xv) Soive the equation -— - we— XA T
=1 xil x+1

(xvi) The end point P of a line segment :;"Q is (-3.6)and its mid point is(5.8). Find the cocrdinates of
the end point Q.

(xvi)  Factorize x' - 48x -12x* - 64

(xviil) Forwhat value of 'm' is the polynomial P(x) =42 —7x7 4 6w - 3w exactly divisible by x + 2

SECTION — C (Marks 24)
Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

Prove that in a correspondence of two triangles, if three sides of one triangle are congruent to the

corresponding three sides of the other. then the two triangles are congruent.
Prove that any point equidistant from the end points of a line segment is on the right bisector of it.

Prove that if the square of one side of a triangle is equal to the sum of the squares of the other two sides
then the triangle is a right angled triangle.

Prove that triangles on equal bases and of equal altitudes are equal in area.

Construct the triangle ABC with measurements mAB = 4.5cm . mBC =3.1cm and mCA=520m .

Draw the bisectors of their angies and verify their concurrency

—— 18A 1709 (L) ——
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t Answer Sheet No.

Sig. of Invigilator.

SECTION — A (Marks 15)

——1SA 1709 (ON) —

33

Time allowed: 20 Minutes (Science Group)
NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.
Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.
F 1
i\ Order of transpose matrix of | 0 1] is:
32
A 3x2 B. 273 C. 1x3 D. 3Ix1d
(i) Rea! part of 2ab(i 1 i*) is:
A 2ab B. ~2ab C. 2abi D. —2ahi
(iif) The relation v = log_ x implies:
A x=z B. 10 C. e D. 0
(iv) (\/:1 n \/,]—))(\/; - \fl?) is equal to:
A (a—h) B. (a+bY C. (a+b) D. (a-b) .
(V) If a.be Rthenonly one of @ =hor a<hora>h holdsis calied:
A. Trichotomy property B. Transitive property
C. Additive property D. Multiplicative property
(vi) Find ‘m’ so that x* + 4x = m is a complete square:
A 8 B. -8 C. 4 D. 16
{vii) If p=2x+1,x=2thenyis:
A. 2 B. 3 C. 4 D. 5
(vii)  Atriangle having all sides different 1s:
A Isoceles B. Scalene C. Equilateral D. None of these
(iX) If one angle of a/an _ ___triangle is of 307, then hypotenuse is twice as long as the side opposite to
the angle.
A Right B. Equilateral C. Isosceles D Scalene
(x) Which of the following sets of lengths can be the lengths of the sides of a triangle?
A 2.3.5 B. 3,45 . C. 2,47 D. None of these
(xi) One angie on the base of an isosceles triangle is 30" . What is the measure of its vertical angle?
A 30° B. 60" C. 0" D. 120°
{xii) If two medians of a triangle are congruent then the triangle will be:
A |sosceles B. Equilateral C. Rightangled D. Acute angled
(il x = 0 is a solution of the inequality:
A. x>0 B. Ix+5<9 C. x+2<0 D. x—-2<0
(xiv) HCFof & +b and a” —ab+h7is:
A a-+h B. & ab+ b C. (a—b) D. a + b
: s 1 :
(xv) The square root of x” +-— +2is:
X
A N B. t(xfiw C wx——J D. ER
LX) \ X" Loox \ X
For Examiner’s use only:
71
Total Marks: L 1% |
_ —
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Roll No

Sig. of Candidate:

Answer Sheet No.

Sig. of invigilator:

(Science Group)
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MATHEMATICS SSC-l
(Science Group)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Log Table may be provided on demand.

SECTION - B (Marks 36)
Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)

(i) The length of a rectangle is four-times its width. The perimeter of the rectangle is 150cm. Find the

dimensions of the rectangle {Use Cramer’s Rule)

(Hi):

(1) Simplify: -~ and write your answer in the form  a+ib.
—i)

(, Y“ \"u h 7 X\)’ n“‘v I3 x‘ N
(iiiy Show that: o o = x| 2 ] = |

e x" ) L X
(iv) Use log table to find the value of 3/2.709 x1.239
% Prove that log, (m")=nlog, m
(vi) If x° +3 +2"=78and xy+ yz+ zv = 59 then find the value of x+ y+z .

(vil' Find LCMof 4(x' 1) . 6(x’ —x" —x+1)

7—x

2

> |

{(vii)  Solve the inequality: 3z -

) o . o dx- ]2 I8 2x°
(ix) Perform the indicated operation and simplify — +
X -9 xT4+6x+9

T2
(x) Find the multiplicative inverse of 73 { L. ‘
. e e 1oy
(xiy  Hx=2+3 find the values of x—— and l_xf—J .
X X
(xii) Solve for v and v: 2-3Dx+yiy=4+i
{xiii) Find the values of m and ¢ by expressing 2x +3v—1=0inthe form y =mx +¢.
. o ) o, [
(Xiv}) Use factorization to find the square root of ——x7 « - xp 4 —ee y
16 127 36

(xv)  Solvefor xv: |v+2l-3=5-|x+2|
(xvi}  Find the length of the diameter of the circle having centre at (7{-3,6) and passing through P(1.3).
(xvii)  Factorize x° —a” +2a—1

{xviii)  Factorize by factor theorem: »° —2x° - 5x+6
SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

Q.3  Prove that in any correspondence of two triangles, if one side and two angles of one triangle are congruent to the

corresponding side and angles of the other, then the triangles are congruent.
Q.4  Prove that any point on the right bisector of a line segment is equidistant from its end points.

Q.5  Prove that in a right angled triangle, the square of the length of hypotenuse is equat to the sum of the squares of
the lengths of the other two sides.

Q.6 Prove that triangles on the same base and of the same (i.e equal) altitudes are equal in area.

Q.7 Construct the triangle ABC with measurements: mAB =5 3cm . meA =45 | msB=30". Also draw the

perpendicular bisectors of their sides and verify their concurrency.
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l-u-m g g LS"‘L"'J

(Science Group)
60 (vul 1.2 /‘gﬁ é 2:40 W2

-gj/UUfr‘ (3) uf c,Lj:rc,uf gy st 7 (12) M,L r».b -u_’.'{dK(}Méi!_l:f;.nﬁ.‘f:«&‘léalJl)’r’:“(r”uf “(5)” - W
S Byl S el al etz £ T bllrgl /¥ (SheetB) 2 A

(36/,1){ ) (o
(12x3=36) Sz (12) e M r soae A
(e £ it oSSR e 150 b6 P oitee Jug S8 )
(1+i)’

(] _ I-)D -uj!d:ﬂ.pu( a+ib _‘,IZ el v.:/?é‘? (”)

3 wh (xb Frre ( x¢ i ~
o fo X\ =l e {iit)
X X \.\

u(‘f‘"'w iy \5/2 709 x41.239 - ‘AVVDWLK‘!Q (iv)

logu(ml ) =n Ogu m A/KV_I:/-:/:‘;" (V)

BN ey =59 eyt e =180 )

_Q/?#‘J’1qu,sg4(.\"‘ L R CHET SR S BV

7-x .
3z zle_u;fjauv,{ (viii}

Ax—-12 18- 2x° -t .
x° -9 :x +6x + é'v /”L'Jd—‘—} )
r

12 o ]
B:!__?j VsJ‘U:‘J(‘WVC’Q&;/“ (X)

Y ! )
,J_/?yb’.w:d [A‘;) 2l »\f*;?x/\':%ﬁ A (xi)

Q-3)(x+yiy=d+i_ ol Y X (i)

L i M e B y=ma e S 203 =150 (i)

| 1 ) . .
Ex' Ti\\ +—%g1 ,J”/p*”d/‘wec_wvuf (xiv)

e 2f=3=5 e 2 Ly e LIY 0 )
LIS c,b/u- PA3) e CE300) g sl (xvi)
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Tt T
Roll No. | [ | : L 1, 1 Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

PAKISTAN STUDIES SSC-I
SECTION — A (Marks 10)

Time allowed: 15 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 15 minutes and handed over to the Centre Superintéendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) Who is the supreme authority in Islam?
A Allah Almighty B. Prime Minister
C. President D. Parliament
(i) Second world war was cemmenced in 1939 AD and ended in:
A 1942 AD B. 1947 AD
C. 1945 AD D. 1946 AD
(i) The number of princely states in sub-confinent at the eve of partition was:
A 638 B. 635
C. 640 D. 650
{iv) Congress nominated Moulana " as member of cabinet for the interim government in 1947 AD
A Zafar Ali Khan B. A K. Fazl-ul-Haque
C. Hasrat Mohani D. Abul Kalam Azad
(v) BIAFO is one of the huge:
A Glacier B. Desert
C. Plain D. Lake
(vi) is national animal of Pakistan.
A lion B. Elephant
C Markhor D. Deer
(vir) Underground water channels are called:
A Karez B. Barrage
C. Canal D. Tunnel
(viil) The 1956 AD Constitution of Pakiétan remained enforced for a period of:
A 2 years and 6 months B. 2 years and 8 months
C. 2 years and 2 months D. 2 years and 7 months
(x) Liaguat Ali Khan was assassinated in Rawalpindi on 16th October:
A 1954 AD B. 1951 AD
C 1950 AD D. 1956 AD
(x) Urdu-Hindi controversy was started in In Banaras.
A. 1867 AD B. 1863 AD
C 1869 AD D. 1866 AD

For Examiner’s use only:

Total Marks: 10 7':

Marks Obtained: ]
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Answer Sheet No.

Roll No

Sig. of Candidate: Sig. of Invigilator:
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PAKISTAN STUDIES SSC-I LAt

Time allowed: 2:15 Hours Total Marks Sections B and C: 40

NOTE: Answer any Eight parts from Section ‘B’ and any two questions from Section ‘c’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B {Marks 24
Q.2  Answer briefly any eight of the following questions. . (8 x 3=24)

(i) What do you mean by faith in Prophethood?

(i} Write down the names of members of Cabinet Mission.

(iii) How did Quaid-e-Azam (RA) get the title of ‘Ambassador of Peace'?

(iv) Name three leaders of N.W.F.P (Khyber Pakhtun Khawa) Muslim League who took active part for
success of referendum in 1947

V) Give a brief account of martyrdom of Tipu Sultan.

vi) State any three causes of Scil Pollution.

vii) Into how many natural regions Pakistan is divided? Also give names.

iX) Define Economic Development.

(

(

(

(vili) Enumerate any six threats to wildlife in Pakistan.

(

(x) When and who administered the oath of Governor General from Quaid-e-Azam (RA)?
(

Xi) Which important airfields of India were destroyed by Pakistan Air Force during 1965 war?

SECTION — C {(Marks 16)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x 8 =186)

Q.3  Explain Two Nation Theory by evaluating the thoughts of Sir Syed Ahmed Khan, Quaid-e-Azam Muhammad
Ali Jinnah (RA) and Allama Muhammad lgbal (RA).

Q.4 Describe the significance of forests. Also give any six reasons for shortage of forests in Pakistan.

Q.5 Elaborate important points of Objectives Resolution.

2448) prao

(8x3=24) -_é{/::l,!ﬁ/ﬂﬁ:.Ulrm"Tc;(jfc—JgZi‘b» 3'%0’}’
‘.’;_)?/QC:;;)Q:FJ;\;')V/vA:? {i

By 7SN (NNt S (1)

WG LS LA P i
,c.%g’uuruﬂwL}y{o}k}b&;1947.»;_¢x'r?,j"lzrt£¢smufuf[.( FiR2) ST W)
A e DSk W)

L ek o SOUCHTES (i)

LA W P E e LS (i

et g e WPl (i)

Ul PSS (0

-

a2 e } "r‘gu’i,;ff"':/:ﬂ./ (x)
SIS LAl 1985 2Bl ()
(1640) prao
(2x8=16) o da SO g Sy » <8
oSy A e iyl e L Gt Lk s A
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.i’\a\ Roll No. L L i i 1 J Answer Sheet No.
= i
: //i Sig. of Candidate. Sig. of Invigilator.

PHYSICS SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the guestion paper itseif.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(H A student claimed the diameter of a wire as 1.032 cm using vernier callipers. Upto what extent
do you agree with it?
A tcm B. 10cm C. 1.03cm D. 1.032¢cm
(i) What are the significant figures in the measurement 0.00450 kg?
A 2 B. 3 C. 5 D. 6
(1ii) Which one of the following represents uniform acceleration?
d d 4
A, B
——————p —
A\ ? v T
C L t D i —» t
(iv) A change in position is called:
A Speed B Velocity C. Displacement D. Distance
(v} Which one of the following is the unit of momentum?
A N B. kgns * C. Ny D. Ns '
(V1) The number of perpendicular components of a force are:
A 1 B. 2 C. 3 D 4

{vil) The value of 'g’ on moon’s surface is 1.6ms ™. What will be the weight of a 100 kg body on the
suiface of the moon?

A 100 N B 160 N C. 1000 N D. 1600 N
{viiiy The work done will be zero when the angle between the force and the distance is:

A 45" B. 60° C 90° D 180°
{ix) The kinetic energy of a body of mass 2 kg is 25J. Its speed is:

A. Sms B. 12 5ms C. 25ms™ D 50ms™
{x] Which one of the following substances is the lightest one?

A Copper B Mercury C Aluminum D. Lead
(X1} Which one of the following material has large specific heat?

A Copper B. Ice C Water D. Mercury
(xit) What happens to the thermal conductivity of a wall if its thickness is doubled?

A Becomes double B. Remains same

C. Becomes half D. Becomes one fourth

For Examiner's use only:

Total Marks: FZ~J

Marks Obtained: | 7J
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Roll No.

Answer Sheet No.

Sig. of Candidate:

Sig. of Invigilator:
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' PHYSICS SSC-I
(Revised Syllabus)

Loy
=
s

P A
ERS 4

A
Yo

4
Jy

| Time allowed: 2:40 Hours Total Marks Sections B and C: 53

Il NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

| neatly and legibly.
[ ] SECTION — B (Marks 33)
N Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11 x3=33)
() The sun is one hundred and fifty million kilometres away from the earth. Write this:
n a As an ordinary whole number
b. In scientific notation
|
N (i) Your hair grow at the rate of 1 mm per day. Find their growth rate in nms™ .
(i) Can a body moving at a constant speed have an acceleration?
| (iv) Find the retardation produced when a car moving at a velocity of 30ms™ slows down uniformiy to 15ms™
[ | in Ss.
[ {v) Why is it dangerous to travel on the roof of a bus?
- (vi) A force acting on a body of mass 5 kg produces an acceleration of 10ms ™. What acceleration will the
same force produce in a body of mass 8 kg?
| (vil) In a right angled triangle length of base is 4 cm and its perpendicutar is 3 cm. Find.
[ a. Length of hypotenuse
b. sin ¢
n C. cost)
o {viin) Differentiate between torque and couple.
[} (ix) Why does the value of ‘g’ vary from place to place?
(x) Which form of energy is most preferred and why?
n (xi) What is meant by the term power? Write its 57 unit.
[ ] (xil) A barge, 40 m Jong and 8 meters broad whose sides are vertical, floats partially loaded in water. If
] 125000 N of cargo is added, how many metres will it sink?
(xiif) Explain how does a submarine move up the water surface and down into water?
n {xiv)  Define latent heat of vapcrization.
[ ] (xv) Explain why is double walied glass vessel used in thermos flask?
N SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)
n
|
u Q.3 a Prove graphically S =v.s+ Ear‘ (04)
| b. Write a note on rolling friction. (04)
c. A body has a weight of 20 N. How much force is required to move it vertically upwards with an
n acceleration of 2ms™? (02)
|
- Q.4 a Derive formula for speed of artificial satellite. (05)
b. Write a detailed note on work. (05)
|
M a5 a Derive formula for pressure in any liquid. (04)
[ | b. What is meant by specific heat capacity? Explain. (04)
L c. Convert 100" F temperature into celcius scale. (02)
N —1SA 1707 (L) —
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Roll No. : R ! ‘ } ‘ ‘ Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator,

Time allowed: 20 Minutes

PHYSICS SSC-l
SECTION - A (Marks 12)

(Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i)

(i)

(vi)

{vii)

(Vi)

(ix}

(x)

(i)

Which one of the following units is not a derived unit?

A. pascal B. kilogram C. newton D watt
300000000ms 'in standard form is written as.

A 330y B 310" ms™ C. 310 ms ! D. 32107 ms
Which one of the following is a vector quantity?

A Speed B Distance C Displacement D Power

A car starts from rest. It acquires a speed of 2<niv  after 20s. The distance travelled by the car

during this time is

A 3125m B. 250 m C. 500 m D 5000 m
Inertia depends upon:
A Force B. Net force C Mass D. Velocity
P.—F
. -

!
A m B a C " D. ma

A body is 'n equilibrium when its
A Acceleration is uniform B. Speed is uniform
C. Speed and acceleration are uniform D. Acceleration is zerc

Earth's gravitational force of attraction vanishes at:

A 6400 km B. Infinity C. 42300 km D. 1000 km
The work done in lifting a brick of mass 2 kg through a height of 5m above ground will be:
A 254 B. 10 C 50J D. 100 J
1Pa =7

A 8\nr- B. AN - C. 2N D. 1A -
Mercury is used as thermometric material hecause it has:

A Non Uniform thermai expansion B. High freezing point

C Smali heat capacity D No colour

Which one of the following is a good radiator of heat?
A A shiny silvered surface B A dull black surface

C. A white surface D. A green coloured surface

For Examiner’s use only:

Total Marks: L 12 |
Marks Obtained: r
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Roll No.

Sig. of Candidate:

Answer Sheet No.

Sig. of Invigilator:
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PHYSICS SSC-I
(Revised Syllabus)

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B {Marks 33}

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11x3 =33}

M
(H)
(iif)

What is meant by atomic and nuclear physics?
What role S/ units have played in the development of science?

Find the acceleration from speed time graph shown in figure:

v{ms")

._.._..-_._..2-5+ t{s)

(iv) A train slows down from 80/mh ' with a uniform retardation of 2ms™ . How long will it take to attain a
speed of 20kmh ' ?
() A cyclist of mass 40 kg exerts a force of 200 N to move his bicycle with an acceleration of 3ms :
How much is the force of friction between the road and the tyres?
(vi) Why is fastening of a seat belt necessary while driving?
(vii) Where will be centre of gravity of the following objects?
a. Triangular sheet b. Uniform circular ring
C. Solid cylinder
{(viil) A force of 50 N is making an angle of 30” with x-axis. Find its perpendicular components.
(ix) What is meant by gravitational field strength? Explain.
(x) Explain how does the value of 'g' vary with altitude?
(xi) Write names of three parts of solar house heating.
(xii) Mention the characteristics of kinetic molecular model of matter.
(xiii)  Why is water not suitable to be used in a barometer?
(xiv)  Why is mercury preferred as a thermometric substance?
(xv) Explain why a metal feels colder to touch than a wood kept in a cold place.
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q.3 a Prove graphically 2aS =¥," ~1'° (03)
b. Define centripetal force and derive its formula. (1+4)
Q.4 What is meant by resotution of forces”? Explain. (1+3)
b. Define kinetic energy and derive its formula. (1+3)
c. The acceleration due to gravity on the surface of moon is 1.62ms * . The radius of moon is
1740 krn. Find the mass of moon. (02)
Q.5 Write a detailed note on variation in atmospheric pressure. (05)
b. State Pascal's Law and write a note on its one application. (1+4)
——18A 1707 (ON) ——
Physics 2017 Annual 55




Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

- oo ol ol o558

(Revised Syllabus)

; & 240 =
53yl (@ /gf ' - . _}_/
-J/U'Ufr (2)s c_é,{ & Us rye 21 (11) u&fi (925 ..u’_J{QK&ML{J&(@DK&UJZL:—UV& r sl oy 2 H

Ll etz £ T de el A H(SheetB)=E 41

(33 /gf ) r»JD
(11x3=33) :uf@,ym»jju,)wgc, Ll (M pAS e b 000 _r iy

S o\ P L (i)
fe o UL U SIS (ii)
Cop s S b E i)
LSRR MR U Ay Y (ii
vi{ms’) =
A
6
B
4 tmm—
1
\
2r— 1
t
|

- . o ; £ 20 e S 2 Uil o 285 8 80 iv
ol LA oo S 20 S Sl P g L 2 /‘:’;dv_/ui’é:'“"*’; R (iv)
w P ¢ 5 Y > Lo BT 3wyt v

oo Pl Rl i e BRI 200Ny B4 it 404,.}_‘_1);»‘)‘/;;_, . V)

’

‘o L"m,‘n/}uxq}%{. {Seat belt)bv%;:.’:.xf_ﬂ'wﬁ? (vi)
oG ST s (Vi)
ST Wy - ek L
AP GAL e S8 30 Aol Ax nd 50N (il
RPN T AR T L EFO I U
Feolnte I g UASAL ST W
<¢‘}t£uwji S ()
U e SSISRE I L (i)
Con il Il S (i)
‘»'LL-J%u”:lj?Q:(/TJPLJ,K.CH:/‘}/Q’// (xiv)

1 ) . B s (s Bt
-v’,';‘UJ_g.dnJ)/lux;u’»“;'aﬂpédﬂ&{’.‘adu&dug{)ﬂfﬂ;d_ﬂ; {xv)

(2048) pro
(2x10=20) sl i Sy » 20

(05) 2a8 =V, =V} ek B AN L Ay
(4+1) ST A ARSI e
(3+1) _Q_’/’&Lb)(fc.:f/gc_://}_)*’i‘g"{/ -y
(1+3) ~uﬂ/{i5’ Ur'/Ub/gj' 23l u:/(\-é'/jd/gf[-'g:d{ -
LA oot ~ .
(02) LS e KEATA0 R K 1.62ms T SISy
(05) ‘wz&juwbg{&ju{:ﬂ{v&vu.» o CQ/.‘J?}’
(@+1) P A S
~——1SA 1707 (ON} —
Physics 2017 Annual 56



Visit TopStudyWorld.Com to Get Great Marks in SSC,

Roll No.

Sig. of Candidate:

Answer Sheet Na.

Sig. of Invigitator:

HSSC and Entry Tests

[- o o o (L;«j\!))aj\

(15: /J‘ Vil

er20
e LA €AY e e el S K2t o S L Sy Ll S e Bl S 1 L L oz g2l S Vi S

e A7 O o5 S e LGS W 5 | ol 1 G s s

uf: &:ﬂ.‘ - J /‘L »Ealy

o/ IS A
& L‘(‘dﬂl" Ju-u' -

- e Ff . - e
fe Y AL i Y A e R

o

it - L b o IRE R
(QF,(!,T _ e S e

58 = LoE -t el o £
P e

Seut iU - % 5 AprSs e LT
St T G

Ledi o g b el o AL
(PUs) Setpiniood

L ) Ji e i el
ﬂ};_:;?rd/@-ufv‘)g;,'),;@}u ) ;uufﬁ,;ffidﬁl

Stk NS Bl A
MUy U/&Eu’%f' ¥

S U o SiiwWr g Jerlyr o dulleur
Sbf'-i—’ﬁihﬁﬂ&f‘@;&;‘uﬁdffwk)@

s - -l -& - - -.aL( -
?‘L[_f{;_,JjU()ﬁ’; SRUIS

e o S Rt Josy L
et AL L g/ e b FL g AL e St

S o & i o
g Je AL gl 1,0 T AT A

o L & - v

Y e e oS8 A7 a0

A - &3 & e - TP
et S At A

Js s A M2 Lo AT S
?éthai;wufz_ﬂ{x&v;

KTy =3 Sy L Sut G i

Urdu Compulsory 2017 Annual

15 Af

A

()

(1)

(iif}

{iv}

(vii)

(viil)

(ix)

(xi)

(xiD)

(xiii)

57



Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

80 v ol (.0 AN

I g O} gl (uA)'Y))J:,\

_JL?JV{L/’VJ’#‘/"{LL[;{QKlenyLnﬁ.“aUzLaﬂlrul_‘Lﬁ1 _2_..,@?,,”;(” iy
-(f?lgi._ng'u:ldbgl'.mL%,T

(3448 poo

(12x2=24) :Maummfuwjgg L7 (12 S5 ,?M;o%,‘!_,t:@w

(5x2=10)

Urdu Compulsory 2017 Annual

e B e A

& ML Iwl i,

‘e tombud Ll b Aok LGk
AUl g P S
"J:»fﬂl_f,@/ffau%ﬂ n u’.'f;u)a:«/"’)
?Lﬁffu[cfaéfi/,imﬁ” L
&l LS pnd

o d TU}A/U;'{ Pl e S s
?gb.»fjgj}w&/'c,utw"’;):’b’u/ﬂ

el Y FUE T g
(:é///lf/y";?:s/:/gc-fb;WJ”VJ‘f) O;.dbc/jd{/g_»ﬁ
?LLJ[/&J/LS//&U"L ”d‘_fgz./ﬂ.g/;ujtazé.{:.:u; ”
?{_)’/gc;ﬂfﬁé.::.ug/;l é,‘) d.Z.L.U
(e AN Sl A s

E L bl e ettt

vuﬁ;u&i-.,x_:l 1 Q//_Jj}?d/,f:
Aol S T
iufrl.pﬁff"ffu:/dlxz”fwU}L‘?C)J‘)(;«mlijj,?jp
Ay f e
AL et A

AW SEE F o d19 s i,

Yo BT

d’f‘{lﬂ:"

o0 ‘ 7

Page 1 of 2 (Urdu.Comp)

_._le:rh‘Uly
(i)

58




Visit TopStudyWorld.Com to Get Great Marks in SSC, HSSC and Entry Tests

(2648) pro
(112+1/2+1+4=6) EECAE A Gz s o L e e

IR e It e e AL I GBS ot e i
St Z TS L ;_iwyz’;:.f_Jﬁ:id&djﬁfd’;z.ﬂd’-f;_ugéwumgii
I e (A T e SR 2 e

,V?uf..é:_Z'_.Lgéfi.—q .w’...%.a?t%f-_)fub?L@pﬁ';ﬁ’_péf..{muébguf% UE{/}JLZ‘/"fUZZ-L_V?JTJ/Lﬁ‘? -
St 2SR L Gt o JBS S G e e BB
e b TS b6 F5 St e 1o BB 5 L g d T R s AP i
Frnbue T

(1/2+1/2+2+2=5) E Gt P S mzdviFare -

S S a4 ek oy o Qo el U 2 U F 7 G
58 s L Lo S g e g
Sl S Foibs & e tT s
g &l B LS e b

(14242=5) &GP b L SLnzdrkre -t

E VA SN NY  STI Gooe duit g L
%—JJngJ'd?”% VoW e S Uk L
R S AVE) - iy Ll Ly
= ¢ L-( 18 =y «.5/ Ji FETCNY o= uﬁl 9]

(5) -u:"@b._&&ﬁr& “ Ut'f&u?fn 7 u!.{ué:/l} Wi P
W
..ufgl)yd’ “ aLU'rfj.J? ” aﬁ’”dﬁd}c

(5) _q/u‘?y;,;ﬁd)«ffﬂ,! ?kkl;_:,?‘dicuu’-ufﬂbf duwd_ & L iy

------ 1SA 1703 e

Page 2 of 2 (Urdu-Comp)

Urdu Compulsory 2017 Annual 59



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 1
	Page 2
	Page 3
	Page 4
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 1
	Page 2
	Page 3
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 1
	Page 2
	Page 3

